Q
AV-

L
U
Im
e
n
ie
/{
=
A
SeE
M
B
L
Y
G
U
D
E



ASSEMBLY GUIDE

USE THE SPLIT PLATE TOP,
THE X ISOLATION PLATE AND
4 X 25MM SCREWS TO
SECURE BOTH PLATES.

USE THE SPLIT PLATE BOTTOM,
THE ARM SUPPORT WEDGES, AND
2 X 12MM SCREWS TO COMPLETE
THE BOTTOM PLATES ASSEMBLY.

AFTER ASSEMBLING THE
BOTTOM PLATE SYSTEM, SLIDE IN
THE 4 ARMS AND SECURE THEM
WITH 4 X 25MM STANDOFF AND
4 X 16MM SCREWS.

PLACE THE ALUMINUM CAMERA
PLATES AND 2 X 25MM
STANDOFF, SECURE THEM
WITH 4 X GMM SCREWS.

Lumenieﬁ JOHNNYF/’ V



ASSEMBLY GUIDE
CAMERA PLATES

2" Y4y 1

USE THE CAMERA PLATE
ORIENTATION ABOVE FOR MINI
(23MM WIDE) FPV CAMERAS

17 Ay T2

USE THE CAMERA PLATE
ORIENTATION ABOVE FOR MICRO

Lumenie;/{/)(/ (20MM WIDE) FPV CAMERAS JQI:!.E‘QYFFV



ASSEMBLY GUIDE

MOUNT AND SECURE THE DJI AIR
UNIT WITH THE CUSTOM MOLDED
FOAM, AND USE THE ANTENNA
HOLDER WITH THE RUBBER O—RING
TO MOUNT THE ANTENNAS IN
PLACE.

SECURE THE TOP PLATE TO
THE STANDOFF AND CAMERA
PLATES BY USING 6 X GMM
COUNTERSINK SCREWS.

ASSEMBLE THE HD ISOLATION
SYSTEM BY USING THE PLATE,
4 X ISOLATION T—-SPACERS, 4
X SILICON RUBBER GROMMETS
AND 4 X 12MM SCREWS.

WRAP UP THE ASSEMBLY
BY STICKING THE HD
CAMERA FOAM WEDGE AND
THE SILICONE BATTERY PAD
TO THE TOP PLATE.

Lumenieﬁ JOHNN‘/F/’ V

FPV AIRFRAME






